ACTIVITY 4 – An Ideal Husband
WHILST-VIEWING TASKS

1. Are the following statements TRUE (T) or FALSE (F)?

a. Lady Markby convinces Lady Chiltern to attend parliament.		____ 

b. In parliament, Sir Robert initially appears to support the		____ 
 fraudulent Argentine Canal plan.

c. Miss Mabel mistakenly believes Lord Goring is marrying 		____ 
Mrs Cheveley.
d. Sir Robert thinks that Lord Goring is having an affair			____ 
with Lady Chiltern.

e. Sir Robert initially accepts the offer of a seat in the cabinet.		____ 

f. Lady Chiltern forgives Sir Robert thereby facilitating his		____ 
decision to remain in parliament.


2. Lady Chiltern surmises that the “whole business” is actually about her and Mrs Cheveley. What do you think she means?
_________________________________________________________ 
_________________________________________________________ 
_________________________________________________________ 


3. Why did Sir Robert believe that Lord Goring and his wife were having an affair? 
____________________________________________________________ 
____________________________________________________________ 
____________________________________________________________ 


4. Why did Miss Mabel ask Lord Goring to meet her under the 2nd palm tree on the right? _______________________________________________________ 
____________________________________________________________ 
____________________________________________________________ 


5. Miss Mabel asks Lord Goring to give her a reason to marry him. Do you think it is reasonable that a man should offer a reason when proffering a marriage proposal? ____________________________________________________ 
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